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(b} (7.5 points) The subspace of B3 consnstmg of all polynomials of the -{_J( ( J,o%
form ag + a1z + ag2? + a3z for which 6z = ap + a; and a3 = gy — a,. ‘
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1\0 I1I- (8 points) Find a quadratlc polynomial interpolant to the data (—1,2),
D, 0), and (1, 2). (Use either Vandermond
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Find a basis for the nullspace of A,
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IV- (a) (8 points)Given




(b) (5 points) Find a basis for the row space of A that consists entirely of
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(c) (5 points) Define nullity(A) and rank(A) then find both of them.
Lrindbely (A= dimancion of malflspace. o A
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(d) (5 points) Is the column space of A all of R4? Explain why in Dnﬁ
statement. / C W\




V- (10 points) Let T: R? — R* be a linear transformation such that
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VI- DO NOT PROVE ANY OF YOUR ANSWBRS IN THIS QUESTION
UNLESS YOU

a) a Subspace of W 2
then 5 is a subspace of V/, T l’ ethe[ Al \JOIR

7- T: R? — R? defired by T(z,y) = (-z, ]S a linear
transformation.

- If A is a 4 x 5 matrix then the largest value for rank(A) is 4. l

b- (8 points) ¥ Assann x n matri
rank(kA) = k.rank(
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